LaampPron

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogaenb: T337

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-s0
1 02050070030 CrapTep B cbope 1 32 03050010015 Laiiba GB93 5 4
2 03020020012 BuHT 5%20 10 33 03040050048 LWattba 08 2
3 02020160439 3awmTa 6aka 1 34 02050160006 CuenneHune 1
4 02080020087 AmopTusatop baka 1 35 03040050043 LWaiba 2
5 02050120002 PuUNbTp TONAUBHBIN 1 36 02020130003 BonT cuenneHua 2
6 61270010013 LLLnaHr TOMUBHbLIN 1 37 80010020052/ KpblwWwKa cuenneHuns 1

70070030015
7 02080020012 3arnywka 1 38 03020030005 BuHT 5*%20 4
8 61270010018 LLnaHr npaiimepa 1 39 03090020020 MoawmnnHuK nanbua 1
9 02090010011 dUNbTP BO3AYLUHBIN 1 40 02020030016 Konbuo ctonopHoe 2

10 02010030018 MpoknagKa nopg craptep 1 41 02010020009 MopweHb 1
11 03030010017 laiikaM8 (8*1.25) 1 42 02020020006 Manew NopLuHA 1

12 02050100006 Mnara cobauek craptepa 1 43 02070010121 Mpoknagka KapTepa 1

/02050100013

13 70030040108 Kpblwka Bo3gywHoro ¢puabtpa 1 44 02020020006 Konbuo nopuHa 2
14 02110030079 BonT KpenneHus KpblwKu GunbTpa 1 45 02070010034 Mpoknagka umnnHapa 1
15 70050030074 BaK TonAunBHbIN 1 46 70070130017 UnnnHgp 1
16 03100010009 CanbHuK 12X22X7 2 47 03010010061 BuHT M5*20 4
17 70070050042 KapTep cTopoHa ctapTepa 1 48 70030030689 KpbiwKa umnmHapa 1
18 03090010034 MoAlWmnnHMK 6201/P5 2 49 a7y CBeuva 1
19 02020120075 KoneHsan 1 50 02110020026 Mpo6ka TonameHoro 6aka 1

20 03070010002 LLinoHka KoneHsana 3*5%13 1 51 03040020020 LWaitba 0 5 4

21 03020020053 BUHT M5*12 1 52 02070010146 Mpoknagka rnywutens 1

22 02070020046 MNpoKknagka TonaneBHoro 6aka 2 53 02050010028 Fnywurenb 1




LaampPron

Power & force NnntocTpmpoBaHHbIN KaTanor 3anacHbIX YacTen Mogenb: T337
23 70070050078 KapTep cTopoHa maxoBuKa 1 54 03010010036 BonT KpenneHua rnywmTens 2
24 70080120007 Onopa Bo3aywWwHoro ¢puabTpa 1 55 03020020044 BuHT M5X55 2
25 03060010004 Naneuy 4*10 4 56 02070010092 Mpoknagka noa TenaonsonatTop 1
26 03010110007 BuHT 5*12 1 57 70030020011 Tennousonatop 1
27 03010010046 BuHT M5*30 4 58 02070010072 Mpoknagka noa kapbropatop 1
28 02050030044 MaxoBmK 1 59 02050020023/ Kap6topaTop 1

02050020016

29 03030050010 Faitka M8*1.25 1 60 02060050017 MoplueHb KoMneKT
30 02050030115 MarHeTo 1 61 02060050018 MoplwHeBasa rpynna KOMNAeKT
31 02050050181 MpoBoA, BbIKNOYEHUA 3aXKUrAHNA 1 62




LaampPron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX YacTei Mogenb: T337
&
39 EiB 33
-
&° Y
"

67
Ne ApTUKYN HaumeHoBaHue K-so | Ne ApTUKYN HavmeHoBaHuWe K-Bo
1 61270030006 PepgykTop 1 41 03010040037 BuHT 2.9X10 1
2 03120020002 Konbuo ctonopHoe 26 1 42 70030070423 KHonka ctonopa 1
3 03120010001 Konbuo 10 1 43 02020110044 Mpy*uHa 1
4 03090010015 NoAwwnnHuK 6000-2RS/P5 2 44 70030070092 Wrnt 1
5 02020090063 Ban-wecrepHs 1 45 70030070421 Pbiyar rasa 1
6 03020030014 BuHT M5X25 1 46 02020110028 Mpy*xuHa 1
7 03020030021 Bont M6X12 2 47 70030070167 PykoaTKa ynpasneHus, npasas 1
NooBUHA
8 80010040019 Kopnyc peaykTtopa 1 48 03010040029 BuHT 2.9X18 2
9 02020160080 Yawka 1 49 03010010064 BuHT M5*27 1
10 03020020018 BuHT M5X12 4 50 02050040048 Tpoc rasa 1
11 03090010013 MNoawwnnHuk 6000/P5 1 51 03030010004 lalika M6 2
12 02020090012 LWectepHsA 1 52 61350020001 O60s10uKa Tpoca rasa 1
13 02020090029 Ban BbixogHOM 1 53 02050050296 BbikntouaTennb 1
14 03090010058 MoawnnHmk 6002-2RS/P5 1 54 70030070422 CTOMNOPHBIN pblyar 1
15 03120020001 Konbuo ctonopHoe 32 1 55 02020110029 Mpy*xunHa 1
16 02020100020 LLlaba peaykTopa 1 56 70030070219 PykoaTKa ynpasneHus, nesas 1
nonoBUHa
17 02020100012 LLlaliba Hoska 1 57 03030060008 laiika M5 1
18 03040050014 LWanba 10 1 58 80010050106 KpblWwKa KpoHLWTeHa 1
19 03030010008 lalika M10X1.25L 1 59 02020160512 PykoaTka Tpy64aTan npasas 1
20 03060020004 WnanHT 2X16 2 60 02080020123 HabangawHuK pyKOATKK 1




LaampPron

Power & force NnntocTpmpoBaHHbIN KaTanor 3anacHbIX YacTen Mogenb: T337
21 61270020002 BapabaH cuenneHuA c Kopnycom 1 61 02020160462 PyKosTKa Tpyb4aTasa npasas
22 02020050026 bapabaH cuenneHusa 1 62 80010050059 KpoHwTeliH cpegHuit
23 03120020004 Konbuo ctonopHoe 35 1 63 80010050078 KpOHLWTENH HUXHWUIA
24 03090010057 NoAawnnHuK 6202-2RS/P5 1 64 | 02110030022 XomyTt
25 03120010005 Konbuo ctonopHoe 15 1 65 C4003 PemeHb HanieyHbIn
26 80010030075 Kopnyc cuenneHuna 1 66 02060040165 Hox
27 02080020069 AMOPTMU3ATOP LUTAHTU 1 67 02110030004 KoKyx HOKa
28 03010010058 BuHT M5X25 8 68 02050220013 TprMMMepHasa ronosKa
29 80010050068 Ckoba B 1 69 03030010013 laiika M5
30 80010050049 Ckoba A 1 70 03010010056 BuHT M5*14
31 03010010060 BuHT M6X20 4 71 70030030962 KpoHwTeiH
32 70030180133 Ckoba noageca pemHs 1 72 03010010062 BuHT M5%20
33 70030160007 DdukcaTop cKobbI 1 73 61270070072 Koxyx(komnnekr)
34 03040030002 Laiiba 5 1 74 70030030691 Koxyx
35 03010060053 BuHT M5X20 1 75 02010030001 Mpoknaaka
36 02010010091 LWTaHra (26*1.5*1500) 1 76 03010110124 Bont M5x20
37 02020060017 Ban (1534mm) 1 77 70030030056 DapTyK KoXyxa
38 02040010003 BTynKa Bana (8*¥14*14) 6 78 03010040074 BuHT
39 02080020006 YnnoTHeHWe BTY/IKM Bana 6 79 03010040025 BuHT
40 70080080136 PyKOATKa ynpaBneHna KOMNIEeKT 1 80 02020070102 Hox obpesku necku




